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Chapter 4 Practice Exam: FOLK & POP CULTURE (2018 v.1)

1. (AP) The term "cultural diffusion" refers to the

(A) modification of Earth's surface by human actions

(B) integration of behavioral traits within a group 

(C) spread of an idea or innovation from its source

(D) relationship between human cultures and their physical environment

(E) assimilation of a minority culture into the host society

2. (AP) Which of the following is true of popular culture?

(A) It is practiced among a homogeneous group of people in the world.

(B) It is more static than folk culture.

(C) It incorporates traits that diffuse quickly to a wide variety of places.

(D) It spreads primarily by relocation diffusion.

(E) It promotes regional diversity.
3. (AP) In contrast to folk culture, popular culture is typical of

(A) large heterogeneous groups

(B) indigenous groups

(C) groups that have little interaction with other groups

(D) small homogeneous groups

(E) groups living in isolated areas

4. (AP) Which of the following best accounts for the universal appeal of blue jeans?

(A) the diffusion of popular culture

(B) the adoption of unique folk culture

(C) the impact of high income on clothing habits

(D) the lack of barriers in communist countries

(E) the need for durable clothing
5. (AP) Which of the following is the belief that one’s own culture is the best or better than other cultures?

(A) Ethos

(B) Prejudice

(C) Ethnocentrism

(D) Stereotyping

(E) Acculturation
6. (AP) Which of the following correctly lists the four major ancient culture hearths?

(A) Central Asia, Ethiopia, Indonesia, Mesopotamia

(B) Central Asia, India, Nile Valley, Southern Europe

(C) Egypt, Mekong Valley, Middle East, Western Africa

(D) Ethiopia, Ghana, Machu Picchu, Mongolia 

(E) Indus Valley, Mesopotamia, Nile Valley, North China
7. (AP) In the United States, the largest concentrations of Amish are found in

(A) Utah, Arizona, and Nevada 

(B) Pennsylvania, Ohio, and Indiana 

(C) Minnesota, Michigan, and Illinois

(D) Rhode Island, New York, and West Virginia 
(E) Tennessee, Arkansas, and Kentucky

8. (AP) A green space in the center of a village reflects the traditional cultural landscape of which of the following United States regions?

(A) New England

(B) The Upper Midwest

(C) The Southeast

(D) The Southwest

(E) The Tidewater
9. (AP) Which of the following is the most often cited environmental benefit of the eat-local movement?

(A) Less fossil fuel is used in transporting food to market.

(B) Fewer pesticides are used by farmers.

(C) Less topsoil is lost to wind and water erosion.

(D) There is less demand for chemical fertilizers.

(E) It helps local and regional economies.

10. (AP) The alignment of ancient Chinese cities toward the cardinal directions (north, south, east, west) best illustrates the importance of which of the following factors in the shaping of these early cities?

(A) gender

(B) topography (land forms)
(C) technology 

(D) geomancy (belief systems)
(E) economics
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11. (AP) All of the terms listed in the box above could be used to illustrate what concept?

(A) Folk cultures responding to physical geography

(B) Diffusion of cultural traits from Asia

(C) Architectural adaptations to the natural environment

(D) Elements of cultural identity

(E) Innovation without diffusion

12. Which statement about culture is NOT true? 

(A) Culture is the customs, traditions, and values of individual people. 

(B) The body of customary beliefs, social forms, and material artifacts that together constitute the distinct tradition of a group of people. 
(C) The imprint of human culture superimposed on the physical environment called the cultural landscape.
(D) Cultures are dynamic and always changing.

(E) Culture gives the people of a region a unique identity and a sense of place.
13. (MM) Which of the following paired items are NOT considered part of a definition of culture?

(A) technologies: artifacts

(B) beliefs: mentifacts

(C) institutions: sociofacts

(D) ancestry: phenotype
14. The sum total of all of the artifacts in a culture (i.e. all the physical things a culture constructs, including food, clothing, housing, sports, art, religious objects, etc.) is known as
(A) material culture

(B) tangible culture

(C) constructed culture
(D) popular culture

(E) folk culture

15. Material culture refers to the sum total of all the artifacts in a given culture. What are the three essential (main) components of material culture?
(A) Food, Shelter, Roads
(B) Food, Hospitals, Shelter
(C) Food, Shelter, Clothing

(D) Shops, Schools, Churches
(E) Cell Phone, Charger, Charging Cord!
16. The visible imprint of human activity on the landscape is 

(A) placelessness.

(B) sequent occupance

(C) the cultural landscape.

(D) cultural ecology

(E) a cultural region.
17. Which of the following is NOT an example of a cultural landscape?
(A) a coffee plantation in Columbia
(B) a Buddhist Temple in Kyoto, Japan
(C) the Amazon Rain forest of Brazil

(D) the Paleolithic cave paintings in Spain/France
(E) a high speed rail system in China
18. Cultural geography is the study of 

(A) how cultures change through time.. 

(B) human-.environment relationships. 

(C) cultural complexes. 

(D) the spatial distributions of cultures and cultural traits

(E) global customs and artifacts
19. Cultural ecology is 

(A) the study of environmental culture traits. 

(B) the study of human interaction with animals. 

(C) the study of human-environment relationships. 

(D) the study of human attitudes towards the cultural landscape. 

(E) none of the above. 
20. A repetitive act performed by an individual is a

(A) custom

(B) folk custom

(C) habit

(D) taboo

(E) complex
21. A repetitive act performed by an group is a

(F) custom.

(G) popular culture.

(H) character trait.

(I) taboo.

(J) habit.

22. A restriction on behavior imposed by social custom is a

(K) custom

(L) folk custom

(M) habit

(N) taboo
(O) complex
23. China produces a relatively large amount of pork compared to the countries of Southwestern Asia primarily because

(P) Rice is the main cereal grain grown in China.

(Q) China's physical environment is less suitable to raising pigs.

(R) Moslems and Jews have taboos against pork consumption.

(S) China has more people than the countries of Southwest Asia.

(T) all of the above

24. Little wine is produced in SW Asia and North Africa primarily because

(A) grapes do not grow in these regions.

(B) wines can be imported more cheaply.

(C) religious taboos discourage consumption.

(D) the people do not have a tradition of wine making.

(E) soil contaminants produce bad grapes.

25. A single attribute of culture (i.e. the basic building block of culture) is called a 

(A) culture complex. 

(B) culture realm. 

(C) cultural landscape. 

(D) culture hearth. 

(E) culture trait. 
26. A functionally related group of cultural traits, such as a transnationals corporation, Roman Catholicism, or wet rice farming, is
(A) a dialect. 

(B) a cultural hearth. 

(C) a cultural trait. 
(D) a cultural complex. 

(E) an idiom. 
27. Any area defined by overlapping cultural complexes and related cultural landscapes like “The South”, “The Middle East”, “Cajun Country” or “The Central Coast” is a 

(A) culture hearth

(B) culture realm

(C) culture region

(D) folk culture

(E) culture complex
28. Culture regions 

(A) are formal regions defined by a single culture trait or culture complex and having well-defined boundaries

(B) are functional regions in which the dominance of the cultural traits that define a culture always decline in all directions as one moves out from the core of that culture region

(C) do not include global scale cultural realms such as The Middle East or Oceania.
(D) are vernacular or perceptual regions that a person believes exists based on his or her idea of their defining cultural traits.

29. Culture realms are global scale culture regions (e.g. Sub-Saharan Africa, Latin America, Southwest Asia). Which of the following culture traits are most commonly used to define and distinguish (tell apart) cultural realms?
(A) government and language

(B) language and ethnicity

(C) ethnicity and religion

(D) language and religion

(E) government and ethnicity
30. Which of the following areas would NOT be considered a cultural realm? 

(A) Western Europe. 

(B) Latin America. 

(C) New England. 

(D) Sub-Saharan Africa. 

(E) Anglo America. 

31. ________________ culture is typically made up of small, homogeneous rural populations.
(A) Material

(B) Popular

(C) Folk

(D) Global
32. All of the following are characteristics of folk cultures EXCEPT: 

(A) folk cultures vary (are different) from place to place but change very little over time. 
(B) folk culture populations are usually small. 

(C) folk cultures have homogeneous populations. 

(D) folk cultures use local materials when building and eat mostly foods that are locally available.

(E) folk cultures diffuse hierarchically. 

33. The choice food, clothing, and housing in folk cultures is based on

(A) cultural factors such as tradition, taboos, and religious beliefs.

(B) climatic conditions and available resources.

(C) government regulations.

(D) styles and trends diffused via electronic media

(E) both A and B
34. Folk customs usually originate from

(A) the availability of more leisure time

(B) the application of industrial technology

(C) the everyday activities and events of rural life

(D) a famous historical event

(E) urban areas
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35. The distribution of what North American folk culture is represented on the above map?
(A) the Hutterites

(B) the Mennonites

(C) the Iroquois
(D) the Amish

(E) the Quakers

36. Folk customs, such as the use of horse and buggies by the Amish in the United States:

(A) discourage cultural appropriation.

(B) are always protected by governments.

(C) help sustain local cultures by helping to give a unique cultural identity to a region.

(D) destroy ethnic neighborhoods.

(E) are always commodified eventually.
37. Folk cultures are usually found in rural areas. The exception is __________________ such as Chinatown in San Francisco, Little Italy in New York, or the Asian Quarter in Paris.
(A) ghettoes

(B) ethnic enclaves
(C) assimilation zones
(D) global villages
38. (MM) What is the greatest challenge to ethnic enclaves like predominantly orthodox Jewish neighborhood in the Bronx? 

(A) migration of "others" into their neighborhoods, often as a result of gentrification
(B) deterioration of housing stock 

(C) discrimination by the mainstream culture 

(D) dissemination of popular culture through media 

(E) a younger generation within the ethnic enclave not interested in the old ways
39. Which of the following help explain the establishment of ethnic enclaves in large cities around the world?
(A) Chain migration

(B) Housing and real estate discrimination

(C) Affinity segregation

(D) Gravity model

(E) All of the above

40. The cultural diversity (wide variety) found among folk cultures is a result primarily of

(A) the movement of goods and services across borders.

(B) expansion diffusion.

(C) the relative isolation of one culture group from others.

(D) globalization.
41. Groups living in close proximity to one another yet practicing uniquely different social customs (as among Indonesian tribes or the folk cultures in the Himalayas) suggests

(A) refusal to teach other customs in schools.

(B) refusal to share other customs in religious ceremonies.

(C) inability to set up telephone service.

(D) limited connections due to topographic, linguistic or ethnic barriers.

(E) military confrontation.

42. Which of the following is NOT an example of geomancy (the effect of cultural influences or religious beliefs on folk housing or settlement patterns?
(A) Malagasy houses (Madagascar) are built with the main door facing west.

(B) Fiji eastern walls are considered sacred.

(C) Java house front doors face south.

(D) Laotians arrange their sleeping positions to ensure head positions are not opposite feet.

(E) Facing windows to face south in temperate climates to capitalize on the sun's heat and light.
43. Folk cultures are spread primarily by

(A) relocation diffusion.

(B) hierarchical diffusion.

(C) contagious diffusion.

(D) stimulus diffusion. 

(E) religious conversion
44. Folk cultures, unlike popular culture, creates cultural landscapes that are unique or otherwise recognizably different from those around it (i.e. the opposite of uniform landscape). This is called
(A) landscape distinctiveness
(B) cultural appropriation
(C) localism
(D) uniform landscape
(E) placefullness
45. Which is NOT an example of landscape distinctiveness?
(A) unique housing styles of the indigenous (native) peoples of North America

(B) individual high school colors or mascots

(C) various forms of football that developed in N. America, Canada, and Australia

(D) recognizably different forms of Himalayan art and culture in the Himalayas, Hindu Kush, and Karakoram mountain ranges 

(E) the grid pattern of streets common in most North American cities

46. (MM) How do folk cultures perceive their environment? 

(A) Folk cultures perceive the environment as a hostile place. 

(B) Folk cultures believe that nature exists solely to enrich and support human beings. 

(C) Folk cultures seek to create a uniform landscapes. 

(D) Folk cultures have great reverence (respect) for and intuition (knowledge) of their environment. 

(E) All of the above. 
47. Popular culture is typical of among
(A) small, homogeneous populations.

(B) large, heterogeneous groups.

(C) groups living in isolated rural areas.

(D) groups that have little interaction with other groups.

(E) groups of specialists.

48. Popular customs are more likely than folk customs to

(A) evolve from the isolation of different groups 

(B) rapidly diffuse through modern communication systems

(C) reflect the unique characteristics of the landscape

(D) have an unknown source of origin

(E) be different from surrounding customs

49. In contrast to folk culture, popular culture is more likely to vary

(A) from place to place at a given time.

(B) from time to time at a given place.

(C) both from place to place and from time to time, in equal measure.

(D) neither from place to place nor from time to time.

(E) only in more developed countries.

50. Popular culture 

(A) typically follows the process of hierarchical diffusion from nodes of innovation to progressively smaller cities.

(B) is transmitted from one location to another through small scale and local migration.

(C) is usually transmitted orally across time and location.

(D) diffuses through relocation diffusion.
51. The choice of clothing in core (developed) regions like the U.S., Europe and Japan, is influenced primarily by

(A) local custom and tradition
(B) occupation and income
(C) social taboos
(D) available materials

(E) all of the above
52. Which of the following describe significant impacts of popular culture? 

(A) It creates a more uniform cultural landscape

(B) It threatens folk customs and cultures

(C) It extensively modifies the physical environment

(D) It encourages commercialism (profit) as the primary cultural value

(E) all of the above
53. The main effect of modern communications on social customs has been to

(A) have little effect on the diffusion of social customs.

(B) slow the rate of change.

(C) increase the similarity of social customs in different locations.

(D) stimulate the diffusion of folk cultures around the world.

(E) preserve folk cultures, by increasing awareness of their uniqueness.
54. The tendency for features of popular culture such as gas stations, strip malls, billboards, chain restaurants, supermarkets, and big box stores to look the same everywhere is known as
(A) environmental determinism

(B) localism
(C) landscape distinctiveness
(D) uniform landscape / placelessness
(E) cultural appropriation

55. Which of the following characteristics is more typical of popular culture than folk culture?

(A) It has an anonymous origin.

(B) It diffuses slowly from its point of origin.

(C) It results in a more uniform cultural landscape.

(D) It is likely to be derived from physical conditions.

(E) Communication is more limited.

56. All of the following arguments are cited by critics of megastores EXCEPT that megastores 

(A) destroy locally owned stores

(B) contribute to uniform landscapes / placelessness

(C) increase traffic and congestion

(D) increase the landscape distinctiveness of a region
(E) are run by corporate outsiders with no stake in the local community

57. Diffusion of popular customs can adversely impact environmental quality in two ways:

(A) depletion of scarce resources and pollution.

(B) diversity of products and slow change.

(C) using renewable materials and recycled designs.

(D) reducing demand for foreign products and promoting local crafts.

(E) increased diversity and decreased demand.
58. Which of the following is NOT a way in which popular culture generally threatens folk culture? 

(A) It threatens the loss of folk clothing styles in favor of western attire 

(B) It threatens military intervention to force popular culture on folk societies 

(C) It threatens traditional gender roles for women embedded in some folk customs 

(D) It threatens the ability of authoritarian regimes to control the political discourse in their countries.
59. What has been the most important mechanism by which popular culture has rapidly diffused across the globe?
(A) Mass migration
(B) Radio 
(C) Word of mouth

(D) Print media

(E) Television

60. Many countries consider western television and social media content a kind of “cultural imperialism”. Which of the following types of American-produced media is LEAST likely to be censored by governments in other countries:

(A) social content that challenges traditional gender roles 
(B) social content seen to promote western social norms such as sexuality, violence, materialism, or the glorification of youth

(C) political content that expresses views in opposition to the current government
(D) material seen to promote human rights, freedom of expression, minority rights and religious pluralism
(E) content critical of transnational corporations and environmental pollution
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61. Which three countries (shown in the darkest shading on the map above on internet freedom) are most aggressive in their punishments for using internet:
(A) Myanmar, Indonesia, and South Sudan.

(B) Russia, Venezuela, and Vietnam.

(C) Iran, Syria, and China.

(D) Iraq, Japan, and Syria.

(E) Cuba, Russia, and China.

62. Which of the following statements about globalization is NOT accurate?
(A) It refers to the increasing the integration and interdependence of the world’s cultures, economies, and politics
(B) It has accelerated the rate of interaction between cultures and peoples.

(C) It has encouraged a counter-process of localization. 
(D) It is not a new process. It has been going on at least since the Columbian Exchange.
(E) It has produced even economic development across the entire globe. 
63. Hip hop music demonstrates an interplay between globalization and local diversity because

(A) it is a form of folk culture threatened by globalization.

(B) artists achieve widespread, sometimes global popularity and airplay yet still make local references.

(C) it is a part of popular culture which threatens to overwhelm local folk cultures.

(D) some lyrics can't be transmitted over the radio and television.
64. Indonesian Hip Hop, “Thailand’s Got Talent” TV program, “Hijabi Barbie”, or regional variations of McDonald’s menus are examples of 

(A) Globalization

(B) localism
(C) syncretism
(D) stimulus diffusion.

(E) all of the above
65. Someone buying a Native American styled dream catcher at a Wal-Mart store, adopting the dreadlocks hair style without any knowledge of the religion, or getting Chinese symbol tattoo without any knowledge of Chinese are best described as examples of

(A) cultural appropriation.

(B) local customs.

(C) assimilation.

(D) acculturation

(E) reterritorialization
66. Cultural appropriation for purposes of profit (e.g., naming a beer for a Lakota chief or staged performances of native dances for tourists) is also known as

(A) maladaptive diffusion.

(B) cultural imperialism.

(C) commodification.

(D) glocalization.
67. The process by which a cultural trait that was not previously regarded as something to be bought or sold becomes something to be sold for profit is called
(A) maladaptive diffusion.

(B) cultural imperialism.

(C) commodification.

(D) syncretism
(E) possibilism
68. (MM) The commodification process of a local custom or artifact often leads to 

(A) “staged authenticity” designed to meet the expectations of tourists or consumers of that culture

(B) a cultural stereotyping of the culture from the custom or artifact is borrowed

(C) the loss of the original context or meaning of the custom or artifact in a local culture 

(D) the erosion of traditional values in favor of the profit motive in local cultures

(E) all of the above
69. Which of the following was most responsible for the original diffusion of the soccer, English, Christianity, and capitalism?
(A) electronic media
(B) Independent or parallel invention
(C) European colonialism.

(D) Forced assimilation
(E) syncretism
70. The increasing speed by which innovations in popular culture diffuse to the point where the perceived distances between places and cultures shrink is called
(A) distance decay.

(B) time-space compression.

(C) space-adjusting techniques.

(D) cultural diffusion.
71. _______________ is the process by which a minority culture adopts just enough the behavior patterns of the surrounding dominant culture so as to be able to function economically and socially.
(A) Assimilation

(B) Acculturation

(C) Ethnocentrism

(D) Cultural appropriation

(E) Syncretism

72. (MM) ________________ is the process by which a small minority population loses its culture to and becomes indistinguishable from (same as) a larger dominant culture. 

(A) assimilation. 

(B) Acculturation. 

(C) Syncretism. 

(D) Migrant diffusion. 
73. A group that completely gives up its cultural traditions such as food and clothing preferences and adopts that of the dominant culture has undergone the process of 

(A) acculturation.

(B) assimilation.

(C) denial.

(D) shift.

(E) citizenship.

74. During the process of assimilation, what happens to the folk culture of the group which is being assimilated?

(A) it disappears as the dominant popular culture replaces it

(B) it blends with the popular culture, with each affecting the other

(C) it becomes a part of cultural landscape as it is expressed in the built environment

(D) it remains strong in the home of the  culture but absent in the public life

(E) it is modified by the popular culture and takes on a new, local form
75. Governments in which of the following countries made efforts to discourage native practice and languages as part of an attempt to forcibly assimilate those populations into the dominant culture?

(A) United States

(B) Canada

(C) Australia

(D) New Zealand

(E) all of the above

76. The fusion of two distinctive cultural traits into a unique hybrid is known as

(A) artifact convergence

(B) cultural uniformity

(C) syncretism

(D) assimilation

(E) acculturation
77. Which cultural phenomenon below is NOT an example of syncretism? 

(A) Tex-Mex cuisine. 

(B) Nordic skiing. 
(C) Snowboarding. 

(D) Thai cuisine. 

(E) Japanese capitalism. 
78. Which of the following is NOT an example of syncretism:
(A) Kwanza

(B) Haitian Vodou religion

(C) Spanglish

(D) Country rock
(E) Aborigine boomerangs

79. The existence and acceptance of different cultures within a single country or society is called
(A) xenophobia

(B) ethnocentrism

(C) syncretism

(D) multiculturalism

(E) assimilation

80. Which type of diffusion is NOT a type of expansion diffusion? (Expansion=The trait spreading increases in number or amount.)
(A) contagious 
(B) hierarchical 

(C) stimulus 

(D) relocation 

(E) All are types of expansion diffusion.
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